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$$ \begin{equation}\begin{split} f(s,n,a)&=\sum_{i=1}"n \text{dp}(s,i) \\
&=\text{dp}(s-1,1)+\sum_{i=2}"{n-1} (\text{dp}(s-1,i-1)+\text{dp}(s-1,i+1))+\text{dp}(s-1,n)\\ &
=2f(s-1,n,a)-\text{dp}(s-1,1)-\text{dp}(s-1,n) \end{split}\end{equation} $$ 00 0000000
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$$ \text{dp}(s,1)=h(a,1,s)-h(a,l(1),s)-h(a,r(1),s)+h(a,r(l(1)),s)+h(a,l(r(1)),s)-h(a,l(r(l(1))),s)-
h(a,r(l(r(1))),s)+\cdots $$
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const int MAXN=5e5+5, MAXM=
int quick pow(int n,int k
int ans=1;
k
k&1 )ans=1LL*ans*n%mod;
n=1LL*n*n%mod;
k>>=

,mod= :

’
ans;

int frac/MAXN],invf[MAXN];
int C(int n,int m
1LL*frac/n!*invf m!%mod*invf n-m]|%mod;

void init
frac =1;
_for(i,1,MAXN)frac/i/=1LL*frac[i-1]*i%mod;
invf [ MAXN-1|=quick pow(frac/MAXN-1|,mod-2);
int i=MAXN-1;i;i--
invfli-1]=1LL*invf[i]|*i%mod;
int ans1/MAXN|,ans2[MAXN];
int dp MAXM | ;
void solvel(int s,int n,int a,int *ans
int pos=0;
mem (dp[pos|,0);
dplpos!ial=1;
ans[0]=1;
_rep(i,1,s
pos=!pos;
mem(dp[pos|,0);
_rep j' N
dpipos![jl=(dpl!'pos![j-1]+dp[!pos||[j+
ans/i|=(ans[i|+dplpos]||j]|)%smod;

int cal(int s,int n,int a,int pos
int posl=pos,pos2=pos,ans=0,d=abs(pos-a);
d<=s&&(s-d)%2==
ans=C(s,(s+d)/2);
int j=1;;j++
j&
posl=-posl;

pos2=2*(n+1)-pos2;

%mod ;
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posl=2*(n+1)-posl;
pos2=-pos2;

int dl=abs(posl-a),d2=abs(pos2-a),det=0;
d1>s&&d2>s ;
d1l<=s&&(s-d1)%2==

det=(det+C(s, (s+dl)/ ;
d2<=s&&(s-d2)%2==

det=(det+C(s, (s+d2)/ %mod ;
j&

ans=(ans+mod-det )%mod;

ans=(ans+det)%mod;
ans;

void solve2(int s,int n,int a,int *ans
ans =1;
_rep(i,1,s
ans|il=(2LL*ans[i-1]+mod-cal(i-1,n,a,1l)+mod-cal(i-1,n,a,n))%mod;

void solve(int s,int n,int a,int *ans
1LL*n*n<s
solvel(s,n,a,ans);

solve2(s,n,a,ans);
int main

init();

int t=read int(),n=read int(),m=read int(),a=read int(),b=read int();
solve(t,n,a,ansl);

solve(t,m,b,ans2);

int ans=0;

_rep(i,0,t

ans=(ans+1LL*C(t,i)*ansl[i]%mod*ans2 t-i])%mod;

enter(ans);
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